
Smith, A.A.T. and Brown, C.V. and Mottram, N.J. (2007) Theoretical 

analysis of the magnetic Freedericksz transition in the presence of 

flexoelectricity and ionic contamination. Physical Review E, 75 (4). 

041704-041712. ISSN 1539-3755 , 

http://dx.doi.org/10.1103/PhysRevE.75.041704

This version is available at https://strathprints.strath.ac.uk/4556/

Strathprints is  designed  to  allow  users  to  access  the  research  output  of  the  University  of 

Strathclyde. Unless otherwise explicitly stated on the manuscript, Copyright © and Moral Rights 

for the papers on this site are retained by the individual authors and/or other copyright owners. 

Please check the manuscript for details of any other licences that may have been applied. You 

may  not  engage  in  further  distribution  of  the  material  for  any  profitmaking  activities  or  any 

commercial gain. You may freely distribute both the url (https://strathprints.strath.ac.uk/) and the 

content of this paper for research or private study, educational, or not-for-profit purposes without 

prior permission or charge. 

Any correspondence concerning this service should be sent to the Strathprints administrator: 

strathprints@strath.ac.uk

The Strathprints institutional repository (https://strathprints.strath.ac.uk) is a digital archive of University of Strathclyde research 

outputs. It has been developed to disseminate open access research outputs, expose data about those outputs, and enable the 

management and persistent access to Strathclyde's intellectual output.

brought to you by COREView metadata, citation and similar papers at core.ac.uk

provided by University of Strathclyde Institutional Repository

https://core.ac.uk/display/9017441?utm_source=pdf&utm_medium=banner&utm_campaign=pdf-decoration-v1
http://strathprints.strath.ac.uk/
mailto:strathprints@strath.ac.uk
http://strathprints.strath.ac.uk/


��������
	
 ��	

��� �� ��� �	�����
 ��������
���

��	������� �� ��� ������
� �� �
����
�
���
��
 	�� ����


����	���	����

������� �����	 
������
 
�������
��� ����������

������ ������� ���� ������ ��� �� � 
�������

��
���� �! �������
�� ��� ������� �
���
���

���������� ����� "��#�����$�

%������ &����� ���������

���!��� '���� ���!����

����������� �()) *���

"����� +������

�&�,������� �! 
��������
��

"��#�����$ �! ������
�$���

'�#�������� ������

-. ��
����� �������

(������� () )/0�

"����� +������

 �����$ 1)� -223

��������	


��
 �������	 ��� ������
���
�� ��������
���
�� ��� ��������
���
� ��� � ��� ����������!�

���""�� �
�������#��� ������
���
 ���
����!!� ���$%�� �&�'����� ���������� ��� �����������(

��'��� 
�������!� �)� �*�+����
 ���������� ��� ���������!� �)�,-�.� �*�+����
 ����������!�

������ 	 
���������������
���� 0��	 1%%2�-!33)2$%$2,3$%( 4�5	 1%%2�-!33)2$%$266,6

3



������
�

�� ���� ������� �	 �

����
��� �	�����
�� ��
������	 ��� ��� �����
 ����
��� ����

������	 �� � 
��	�� 	�
���
 ����� �����
� �� � 
��	���
 ���� � �

�������� �����

��� 
����
�� ��������
��� ���	�����	 � � �
� ��� ����� 
�	���	� � ���������	��
�	��	�

��	���� �� 
��������� �	� 	��������� ��	��� 
������ ��	�
 �
�
��� ���� �	����
�  ��� ���

!������
���
 �	� �����
���
 
����������	�  ��
� �

���  ��	 ��� ����
��� �� ����������

��� �	�����
�� �������	 �� ��� 	 �� 
�����
�	� 
������ �� � ���� 	�
���
�� 
��
������	

 ��	 ���
 � "�#"� ��� �	�����
�� �

���
� ���� � � $��	������ �	����� �	�� �� ���


����� 
����� ������� ��� 
����������	 ��� ��%���	� ������ �� ��� ������
 
�	���	��& ���

��	�
 ��	����& ��� !������
���
 
��Æ
��	�� �	� ��� ����� ���
�	����

"



� �������
�
��

������
 ��'��� 
������ ��������� +�������� 
������ ����
���� � �� ������� ��������� ������

������� ��� � �� ���� �5 ���� �� ����������
 ���
�����
 �������������� ��� �� ����������
 ���2

��+����
 ���
����������� 0 � �#���+� ����
���� ����������� �� � � ������
 � ��� �� ���
�����

�� � � ����
���� �� ��� �� � � �������� �� � � ����
���� �������+ � � � ��� �5 ����� �����
2

���
 ��� ��+����
 ������������� ��� ��7����� #����� �� � � ��������#��� ��� � � ���
����������

�����#�� �������� �� ��� ��������
���� �� � � �2����
���� ��� � ��� �� �� ����������� ����

������������ �� � � � ��� 83� "℄�

:� 3;6; *���� 8,℄ �������� � �� � ���� ������������ ����� ����� ���� ����������� �� � �

�2����
��� �� � � ������
 ����
���� ��������� � � ��� �������� �� ���� �� � ��������� ���
���


������ ������� 0 �� �7�
�� � �
  �� ��
��� ����� �� � � <�5����
���
 �7�
�� �� �����+���

�� � � ��������
���
 �7�
� �� 
������ 
�������� 0 � <�5����
���
 �7�
�  �� ���� �����#�� ��

����� ������
� ��� ���� ��� ������
 ��������� ��� � �
 � � ����
���� ��� ���2����� ���

��������
� :� � � ������ 
��� � � ��������
� �� � � <�5����
���
 ������������ ��� ����������

�� � � 
����������� ���� � ����
���� '��������� ������ 8%� )℄�

*���������� �� � � 4�������
��� ���������� �� � ������
 ����� ����
�� �� � ��+����
 =���

�� �� ��
� #����+�  �� ��
��� �� �������� �� ��
 ��'�� ��� � � ������������� �� � � #����� ��

� � 4����2>���� ������
 
�������� �� ������
 ��'��� 
������ ��������� 86� �� $� ;℄� 4�� �5������

� ������ ���+��� ������
 ����� ���� �����+� � ����� ���������� � �� � ��+����
 =��� ���#�

� � 
����
�� #���� � ? �
 �� ������� ������ �� � � ����� �� ���+ �� � � ��+����
 ���
����������

�������� �� � � �2����
���� ��� �� ���+�� � �� � � #���� ��������
���� �� � � �2����
���� ��� ��

� �� @� ? �� � �� � -� 0 ��� �� �� ���������� ����� � ? �
 ��� � � ��+������ �� � �

����������� � �
 
�� �� '�����=�� �� ����� �� � � ���2����� ���� ��+�� ��� ��
������ � �����

�� � � ��+����
 =��� �� ��
������ ���#� � � 
����
�� #�����

:� 3;�% ������+ 83-℄ �������� � � ������
�� ��#����+����� ���� � � ��<���
� �� � <�5����
���


������������ �� � � ��+����
 4�������
��� �7�
�� :�
������+ � � ��+������ �� � � ��� �� � �

<�5����
���
 
��Æ
������ ��� 1 ���� ���� ��� � ��� � � 
����
�� =��� �
 ��� �� ���� ��
����� � �

+������� �� � � ��� ����� ���� �� � ���
���� �� ��+����
 =��� ����������� ���#� � � � ��� ����

0 �� A<�5����
���
 ���7����+B ��� ���� �����
��� �����
��� �� �

�� ���� �������� �� � � 4����2

���
��� �7�
� ����
�� �� ���
���
 =���� �� � � ������
� �� � <�5����
���
 ������������ 833℄� *���

��
��� ���� �� � � ������� ��� ��� �� � � ��
� ���
���
���� ����
�� 4�������
��� ���������� 
��2

������� � � ���� A��+�����
�B �� � � �7�
� �� � � �����
 ���������� �� � � �2����
��� ���=��

������� ��
������+ � � #���� �� � � ������
 ������
 
������� ����� ����� ��� ��
������+ � �

#���� �� ���1 ��� � �� =����+ � � � ��� �� � � 
���
����
�2#����+� 
��#� ���#� � � � ��� ���

#����+� 83"℄�

C������
����� ��7����� ����������� ������
 ��  �#� ����+���� �� � � ��+������ ��� �#��

��+� �� � � <�5����
���
 
��Æ
����� � �� ������� �� � � ���� �������� ���+� )�D �� *D2

D�! 83,℄� >�� ������ ��� � �� �� � � ������
� �� ������ ����
 
������������� E �� �������2

,



����� ��� ���� ��� � ��+����
 =��� �� ��� �� ��
� ���
���
 =��� � ��� ������ �� � �����

� �� � � ���
� 
 ��+� ����5����� ���� � ��� ���� �� �� ���2����
���2������������ 
������+� 0 �

�7�
� �� ���� ������ �� ����� ������
 ��������� ��� � �� � � ����������� +������� �� ������

���������
� ��� ������
� � �  ����� ���+��� ������
 +�������� 
���� 83%℄ =��� ������������

� �� ��� � � ��+� ��� ��+������ �� ���1 ��� ��� 
 ��+�� � �� � � ���� �� 83)℄ ��� ��=����

��� �� ����
 
 ��+� ������ ������� �� 3�-� 3-�� ����

:� � �� ����� � � ������
�� ��#����+����� �� ��������� �� � � ��+����
���� ����
�� 4������2

�
��� ���������� �� � � ������ �� A�����B ���+����� +�������� F'������� ���
�����+ ������



�������� � ����� ���2�'��������� 
 ��+� ���������� ��� � � ����������� *�5����G� �'�������

�� ���
�����+������ ��� ���#�� ���� 
����������� �� ����� �� ��#����+���  �� � � <�5����
���


������������ �� � � ��������� ����� 
�� �� � ������ �� � � ������ ����
 
 ��+��

� ���
� ��� ���
��
�� �����
���

0 � +������� � �� ���� �� ��#����+���� 
������� �� ��� �������� ������ ��� � � ��'��� 
������

������
 �� ������� � �� �� ����
��� �� 4�+� 3� 0 � ����
��� ���� ��+�� � �� ��=��� ������#�

�� � � 
��=���+ ������ �� � ��� �� � � 4�+� 3� :� ���� �� ������� � �� � � �2����
��� ����

�������� �� � � ���������� �� ��� �� � � �����
��� �� � �� ��	 ? -! ? ��	 ? 
! ? - ���� �

��+����
 =��� � �� ������� ��������
���� �� � � 
��� ���� ���
� � � ��+����
 ���
����������

���������� @� �� ������� �� �� ������#�� ����
��� ��2����������� �� �5��
��� �� �

�� ��
�

� � =��� �5
���� ���� 
����
�� � ��� ��� #���� ��� ? �
� 0 � <�5����
���
 �������������

� �
 �� �������� �� � ����
� 
����'���
� �� � �� ����
�� ����
��� ����������� � �� 
������ ��

�������� ���
���
 =��� �� 0 �� �
�� �� ��
 � ��� �� �� �� ����������� ����
� � � �7�
� �� � �

��+����
 =���� :� ���� �� ������� � �� ��� ����� �� ������ ����
 ���
��� ��� ������� �� � �

����� ��������������� ���  �#��+ 
 ��+� 1��� ��� ������ ������� ��� ��� � � �� ��  �#��+


 ��+� ���� ��� ������ ������� ��� 0 � ������#��� 
 ��+�� ����
 ���
��� ���� �� �������� �� ��

A ����B ��� � � ��+���#��� 
 ��+�� ����
 ���
��� �� A���
�����B �� ��� ������  �#� �� � ���
��

��+��=
��
� ��� ��� ���� ������ �� ��� � � ���#��� ��� <�� �� � � ����
��!�

4��� ��'��� 
������ 
�������� � ���� 836� 3�� 3$� 3;℄ � � ����� ���� ����+� ������� �� ��
 

� 
��� �� +�#�� ��

� ? ������	
 1 ���
���	
 1 ����
��	


? ������	
 1 ���
���	
 1 ��
	���
��	
 1 ���������
��	
 1 �	��	
!

? �

�
�� �� � �!� 1 �

�
�� �� � � � �!� 1 �

�
�� ����� �!�

1�

�
��� 1��!� � 8�� � �!�� �� � �!�℄� �

�

�@� �� ��!�

��

�
�����

� � �

�
���� �� ��!

� � ��� �� � �! �� ��! 1 ��� ����� �! ��1 ��� �3!

� ��� � � �	 ��� � � ����� 4���� ������
 
��������� 
� ��� �� ��� � � ������������ ��� ������2

��#��� �� ���� ���
�� ��� ��� ��� ��� � � ����� ��� ���� <�5����
���
 
��Æ
������ �����
��#����

%



�� ? ������ � ��! �� � � ���� 
 ��+� ������� ��� � ������� � � ���
���
 ���������� 0 � ����2

���� 
������� �� ? �� � �� �� � � �����
���
 ���������� �� � � �������� ��� �� ��� �� ����+

� � ������#� �����
���
 ��������#����� �������� ��� ��������
���� �� � � �2����
���� ��� �� � �

�������� �� � � +������� �� ���� ���������� �� ������� � �� � � ����
��� ���������� ��+�� ��

���
���
 =��� ��+������ � ? ��� ��� � � ���
���� ���  ��� ������ ��������� ��� ��� ��! ���

��������� ���� ��������� �� 	� 0 �� ������ �� �� �������
� � � ��������+	

� ? �-� -� �! � � ? �-� -� � �	� �!! � � ? �
�� � �	� �! � -� ��� � �	� �!! � �"!

� ��� � �� ������� 
������� �#�� � � 
���� :�������+ � ��� ���� �'������ �3! ��� ������+ � �

���
���
 =��� �� ����� �� � � ��������� #�� � � �������� � ? ��� 8"-℄ � �� +�#�� � � �����

���� ����+� ������� �� ��

� ?
3

"

�
�� 
��

�� 1�� ���
��
����

�	

��

�
3

"

�@��

� �����

�
3

"
��
�
�� 1 �� ���

��
����

�	

��

1 ���� 1 ���! ��� � 
�� �

�
��

�	

��
��

�	

�
1 ���� �,!

0 � ��5� ���� �� �� �������� � � ����� ����+� �� � � ������ �� ����� �� ������ � � +�#�����+

��7�������� �'������ ��� � � ����
��� ���������� ��+��� H���+ � � 
��
���� �� #��������� 83$℄

� �� ���
��� ����� �� � � �'������

�
�� 
��

�� 1�� ���
��
�����

�	�

�
1

3

"
��� ���! ��� �"�!

�
��

�	

��

1
3

"
���� ��� �"�!

�
��

�	

��

1
3

"
���� 1 ���! ��� �"�!

�
���

�	�

�
1

3

"

�@��

� ��� �"�!� ��

�
��

��

�
? -� �%!

� ��� �� ���������� � � ����
��� ���������� #��
������ :� �������� �� � � ���#� �� �� ���� ���������

�� ������ � �� *�5����G� �'������� ��� ���
���
 ��� ��+����
 =���� ��� �������������� �����=���

:� � �� ���������� � ��� � � ��+����
 =��� �� 
��������� �� �� 
������� �� ��� ���
� ��� �����

��� �� �� ������� � �� � ? ��� � � ���� *�5���� �'������ � �� ����� �� �� �5���
���� ���#��

�� � �� ? �� � ��� � �� � � ���
���
 ������
����� � �
 
�� �� �5������� �� 83℄

� ? �����1 ���� �� ��!� 1 ��� �� � �!�� ��� ����� �! � �)!

� �
 ���� ��������� ���� � � *�5���� �'������ ����� �� � � ��7�������� �'������

�

�	

�
�����

�
��

�	

�
� ���� ���

��

�
��

�	

�
1
3

"
���� 1 ���! ��� �"�!

�
��

�	

��
? ��� ��� � ��! � �6!

:� ����� �� ����� � � ��� ������������ � � ���2�'��������� 
 ��+� ��������� �'�������

���� ���� �� ���#��	

���
��

1 
�
�

�	

�
��
��

�	
�
��


�

���
�	

�
? -�

���
��

� 
�
�

�	

�
��

��

�	
1
��


�

���
�	

�
? -� ��!

)



� ��� 
� ��� 
� ��� � � ���
���� ���  ��� ���������� ��� �� ��� �� ��� � � ���
���� ���

 ��� ��7���#������ 0���������� �
��#���� �7�
�� ��
 �� +���������2��
���������� ��� �� � �

������
 �'��������� ������� ������� ����
���� ��� �����
����� ���2����� ��� ��� 
���������

�� � � ������� ����� 8"3℄�

4�� � � �������
�� ���� �� �� ����+ ������� � �� � � A�����+ ��
 ����+B 
��������  ����

�� � � ���������� 	 ? - ��� 	 ? 
 � �
 ����� � �� � � ����
��� �� =5�� �������� �� � �

�����
��� :� �� ��
������ �� �������
� � #��� ����� ������� ���� ��+�� � ���+ ��� � � ���� ��

� � ����� � �� � � ������ �� �������� ������
����� ������������� ���
� �� �5������ ���
���


=��� �� ����+ ������� �� ������ � �� � � �������+ ������ ��� ���  ��� �� ���� ���������� 4��

� � 
 ��+� ��������� �'������� �� 
������� � � ���������� �� �� ��������� ������+ � �� ��


������ 
�� <�� ���� �� ��� �� � � 
���� 
��
� � � ���������� ��� ���� �� ��� ����� �� 
 ��+�

<�� � �� 
�� �� ��+����� �� �����
��#� �� �����#����� 0 �� �����5������ �� � � ��������� �� �

���
��
�� ��#�
� � ��� � � ���
������ ��� 
����� ��� � � �� �����
���
 ������ *�� �����
�����

� ��� 
��������� 
�� �� �5������� �� � � �����	

� �-� �! ? � �
� �! ? -� �� �	� �!
�� �	� �!

�	

				
����


�
��


�

��� �	� �!

�	

				
����


? -�

�$!

� �-� �! ? � �
� �! ? -� �� �	� �!
�� �	� �!

�	

				
����


1
��


�

��� �	� �!

�	

				
����


? -�

:� �������� �� � � �������� 
��������� ���
����� ���#�� �� ���� ��'���� � � ��������+

������� 
���������	

� �	� -! ? -� � �	� -! ? -� �� �	� -! ? �� �	� -! ? �� �;!

:� �� � ������� ������� � �� �� � ? - � � 
 ��+� �� ��������� ����������� ��� � �����

������� � �
 ����� � �� �� �� 
��������

� ������

�� �����
��

��� ��+ � � ���� ������ �� �'������� ��=��� �� �%!� �6! ��� ��!� ����+ ��� � ��� ����
�����

�������� ��� ������� 
��������� �$! ��� �;! 
�� �� ���#�� ������
����� �� �������
�� ��������

���#���� ���� ����+ � ���� � � ���
��� �������� ������� � � ����
��� ����������� ��� � � #������

=��� 
���������� :� � �� ��
���� �� ����#� �� �����5����� ���������
 �����
 �������� � ��

� � ������� ��+����
 =��� �� I��� ���#� � � � ��� ���� E� �������
� � ����� ������������

���������� � � ���+ � � ��������

� ? �


�
3 1 ��

�
� �3-!

��� 
������
� ������ ��������� �� � � ����

� ? ��� 1 ���� 1 � � � � �� ? �� 1 ����� 1 ����� 1 � � � �

� ? ���� 1 ���� 1 � � � � �� ? �� 1 ����� 1 ����� 1 � � � � �33!

6



:�������+ � ��� ���� � � +�#�����+ �'������� �%!� �6! ��� ��! ��� �����+ ��� �� � � ��2

���5��������

����� � �� � �

�
��� ��� �"�! � "� � �

�
��� �3"!

�� ������� �� �� � ��� ����� �� �� � � ��������+ ������ �� ��7�������� �'�������	

�
������ 1 
�@��

�


 ��
�
� 1

�
������ ����

�

�
���� 1���

�

�
���� 1 ��� ���! ���

�

��

1���� 1 ���! ������ 1 
�@��
�


 �� �
�

�

�@��

�


 �
�

�
1 "
�@��

�


 ��
�
�� ? -� �3,!

8�������� 1 ���� 1 ���! �����℄� �
� ? ��� ���� � ���! �

�� �3%!�
�
��


�

���

�
�

1

�
����� �

��


�

����

�
�

�� ? -� �3)!

�
��


�
���

�
�

1

�
����� 1

��


�
����

�
�

�� ? -� �36!

� ��� � � 	 ����
����� ������ ��7������������ 0 ��� �'������� ��� ��� ���#�� ��'����������

��� ��
 ����� �� �� �����+ ��� �� � � �������� 
��������� �� �$!�

:� �� 
���� �� ��� � �� � � ����� ����� �'������� ��� ���#����� �����=�� ���
� �� �� � 
�������

��� � � ���� =��� ����� �'������ ������ ���� �3,!� 
��#��+ � �� +�#�� ���� �� � � ��������

� ��� ��� �5��������

�
 ?
�






��


�@�
� �3�!

����+ ��� � � �������� ����

�� ? � ���
��	



�
� �3$!

� ��� � �� � 
������� �� ����+������� ��� �� �� ����������� 0�����+ �� � � ��
��� �����

�'�������� �� �� ��� �������� �� �������������� ���#� �3%!� �3)! ��� �36! �� ������ � � ���������

�� ?

�
� �� � �!� ���

3 1 �5� ��
!

�
�5� ��	! 1 ��� 
��

�
"�	




�
1 � �� ��!

1

�
� �� � �!� ��� �

�
� �� � �!� ���

3 1 �5� ��
!

��
�5� ���	! � �3;!

��� ? 1

���
��


�
� �� � �!� ��� �

�
� �� � �!� ���

3 1 �5� ��
!

��
�5� ���	!

1

�
� �� � �!� ���

3 1 �5� ��
!

�
�5� ��	! 1��� 
��

�
"�	




�
1 � �� ��!

�
1 �� �"-!

��� ? �

���
��


�
� �� � �!� ��� �

�
� �� � �!� ���

3 1 �5� ��
!

��
�5� ���	!

1

�
� �� � �!� ���

3 1 �5� ��
!

�
�5� ��	! 1��� 
��

�
"�	




�
1 � �� ��!

�
1�� �"3!

�



� ��� � ��� � ��� ����+������ 
�������� ��� ��  �#� �������
�� � � ����������

� ?



�����

����

�

�
��

1

�
��

�
� � ? �

���� 1 ���!�
�

����
�

��
%��


�
1 ��

�
� � ? �

���

������
� �""!

��� �� � � ���������+ �������� 
���������� �� 
 ��+� 
�� ��� �� ����� �� ���#� � � 
��� ���

�� ��  �#� ������� � �� � ��� ��� �� 
 ��+� +��������� �� ��
���������� ���
����� �
�����+

�� 
�� 
������� � � ����� ������ �� ��
 ���� �� 
 ��+� �� �� 
�����#�� ��� �� � � 
���� 
��
�

� � ������+ ����� ����� �� � � ���
���� ���  ��� ������ ������� ������ ��������� ��� �'��� ��

� � 
������� ������� ������� �� �� 
�� ������ � �� ��
 �� � � ��������+ ����� ���� ����+����

�� ����� �������+ � �� 
�������� �� �'������� �"-! ��� �"3! +�#�� ��� �� � � ����+������


�������� �� ��

� ?

�����

�

��

� � ? �

�����

�

��

�",!

��5�� �� ����� �� ������ � � 
������� �� �� ���� �� � � � ��� ����� ���� �� � � ��7��������

�'������ �3,! � ��� ��������� ��� �����+ ��������� 
��
�������� �#�������� �����

� ?

�
��

%��

1
���� 1 ���!

� ��

������ �%�� 1 ��
�!

�����
� �"%!

:� � ���� �� ����� � �� � ��+���#� �������� ��� � ���� �5�����  ���#�� � �� I��� 
����������

�� � �������� �� � � ����
��� �� � � �������� ����
����� 0 � ��������� �� �� ��
��� ����� �� �

��� ��� �� ������=�� �� ��#��� � ��

� ? �� ���
��	



�
� �")!

� ? ���

�

��

�
"�	




�
� 3

�
��� �"6!

�� ? �� 1

���

��
��� 
��

�
"�	




�
��� �"�!

�� ? �� �

���

��

��� 
��

�
"�	




�
��� �"$!

:� 
�� ���� �� � ��� � ��� � �� �� ? -� � � �5�������� ��� � � ��5���� ����������

��+��� �� ? ��� ����
�� �� � �� �������� ����� ��� 833� ""℄ � �� ���� ��� ��� 
����������

������������� �� � � �����
� �� ��� <�5����
���
��� ��� ����
 
������������ �� ������=�� ��

� � �������
 �������� ����� �� � � ���������� 83$℄�

� �
�����

:� ����� �� 
 �
� � � �

���
� �� � � �������
 �������� ��  �#� ���#�� � � ���� ��� �� ��7��������

�'������� �%!� �6! ��� ��!� ���I�
� �� � � 
��������� �$! ��� �;!� ������
���� ����+ � � =����

$



������� ��
��+� �>*
>& *����� ���
� 8",℄� ��� ��+ � � ���� ������
 �'������� ���� ����

��� � ��� ���������� ���� � � =��� �����
 ����� ������� ��� ���������  ����

H����� ������ �� ������ � � ��������� #����� ���� ��� � ��� ��������� �� 0���� 3� C��� ��

 �#� ���� ������������ ��������� �� � � �������� F� ��� � � ��������#��� 
��������� ���

������
 
�������� ��� @� ����� �� � ����
�� #���� ��� ������
 ��������� 83"� 3$℄� 0 � ��7���#���


�������� ��� 
��
������ ����+ � � F������� �������� � ? 
���� ��� � ��� �� ������� � �

D�������� 
�������� ��� � � ����������� � ��� ������� �� �� ,-- J� �� ��������� �����

#��
����� #��� ��� ���� �� ����
� 
������������ ���� ��� � � ������
�� ���������� 0 �� ����

���  �#� ��� 
����'���
�� ��� � � �����
 ��������� �� � �
 �� ��� �����������

:� 4�+�� " ��� , �� � �� � 
��������� �� � � �������
�� ���������� �������� ����+ �'�������

�")! �� �"$!� ��� � ��� 
������� ������
���� ��� � � ����
��� ���������� ��+��� ��������� ���

��� ������ ��������� �
���� � � 
��� �� ��� ��7����� ������� ��+����
 =��� �����+� �� 0 �

��� �� ����� 
��������� �� � � �����
����� �� � � �������
�� �������� ��� � � ����� ����� ��

� � �����
����� �� � � ���� ������
�� 
��
��������� E �� � � ��+����
 =��� �� I��� ���#�

� � � ��� ���� ���
 ? 3�-3� � ��� �� 
���� �+������� ������� � � ������
�� ��� �������
��

���������� 0 � ��#������ ������� � � ��� ��������� ��
���� ��+��=
��� ��  �+ �� =����� � ��

���
 ? 3�-)� �� � ������ �� �������+ � � ���������
 �������� �� ��
��� ����� �� �� 0 �

��+������ �� � � <�5����
���
 ������������ ���� ��  �+ �� �� � � ��+���� � ��� � ��� ��� �������

+�������� �� � � �2����
��� ��+�� � ��� � � ��������� � � �� 
�� �� ���� ���� �'������ �3!�

:� 4�+� , � � ������ ������#� ��� ��+���#� 
 ��+�� ���
� ���������� �� � � #�������� �� � �

������������ � ���+ � � ����� ��� � � ������ ������� �� ���
����� ����+ �� ��
�� �� � �


����� �� � � 
���� ��� �������� ���� �� � � ����������� � ����� � � ������ ������� ��  ����

�� �� ��
�� ���� �� � � ����������� ��� �������� ������� � � 
������

4�+��� % ����������� � � �7�
�� � �� ��� <�5����
���
��� ��� ����
 
������������ 
��  �#�

�� � � �2����
��� ���������� ��+�� � ���+ � � 
��� � �� ���
 ? 3�)� 0 ��� ���� ��� � �

���� ��� ��� �����'���� +��� �  �#� ���� �������� � ���+ ������
�� �������� �� �'�������

�%!� �6! ��� ��!� 0 � ����� ���� � ��� � � ���������� � ��  �� ���� 
��
������ �� � � �����
� ��

��� ����
 
������������ �� <�5����
���
 ������������ � �� �� ? - ��� ��� ���1��� ? - �����

0 � ���2����� ���� ��+�� �� �� ? 3�-,6 ���� :� � � ����
 ������ ������� �� ���������� �� ����

��� � � <�5����
���
 ������������ �� ��
������ �� ��� 1 ��� ? ,�-� 3-��� ���� � � ����������

��
������ ��� � ��� �� � ��+��=
��� ����
���� �� � � ���2����� ���� ��+��� ��� �� ? -�;$% ����

0 �� �7�
�  �� ���� ���#������ �������� ��� ��#����+���� 83-℄�

0 � �7�
� �� ��
������+ � � 
 ��+� ������ ������� �� � �� ��#����+���� ��� � � 
��� � ���

� � ��� �� � � <�5����
���
 
��Æ
����� �� ���� 
������� �� ��� 1 ��� ? ,�-� 3-��� ����� 4��

�� ? 3�-�3-�� ��� � � ��7����
� ���� � � �2����
��� ���������� ���=�� ��� � �� �� ? -�- ���

�� ��+��+����� :� � �� ���=�� ��� ������� �� 4�+� % �� ����� � ������� �� 
���
����� ��� � �

����� ������ 
��#�� E �� � � ������ ������� �� ��
������ ���� �� � � ������ ����
 ���
���

��+�� �� � ���� � � <�5����
���
 ������������ ��� � � ����
���� �� � � ���2����� ���� ��+��

������#� �� � �� � � ��� �� � � <�5����
���
 
��Æ
����� �� ���� �� ��� �� ������� 0 � 
��#�

;



��� �� ? 3�-� 3-�� ��� ��� ��� 1 ��� ? ,�-� 3-��� ����� � ��� �� � � ��������� ���2��� ��


��#� �� 4�+� % ���� ���� I��� ����� � � ����� 
��#� �� 4�+� % ��� � �
 �� ? - ��� ���

��� 1 ��� ? - ����� 0 � 
��#� ��� �� ? 3�- � 3-�� ��� �� ��� � ��� ��
���� � �� ����� ��


���
����� ��� � � ����� ����� 0 ������� � � ��
����� �� � � ���������� �
���� � � ����� ��� � �

�

��������+ ����
���� �� � � ���2����� ���� ��� �� � � �7�
� �� � � <�5����
���
 ������������

�� #�������� 
��
����� �� � � � ������+ �7�
� �� � � ������ ���� �� � ��  �+ ������ ��������

0 ��� �� � �����2�7 � ���  �+ �� #����� �� � � ��� �� � � <�5����
���
 
��Æ
����� 
���� � �

���2����� ���� ��+�� �� �� ��
����� ����� � � ���� <�5����
���
 ������������ #���� �� 3�-,6 ����

��� ��  �+ �� #����� �� � � ����
 
 ��+� ������� �� � ������+ ��������� �� ����� 
��
��� � ��

��
������ 0 �� �� ����������� �� 4�+� ) � �
 � ��� � �����
� ���� �� � � #���� �� �� �� �

���
���� �� ��� ��� 1 ��� ��� � � ���� 3- ��+���� � �� �� ��� ���
 ? 3�)� 0 � #���� �� ��

�� ����
�� ���� � �� � � ��� �� � � <�5����
���
 
��Æ
����� �� ���+� ��� � � ����
 ������

������� �� ������ ���� � �� ��� � �  �+ ��� #����� �� ���1��� � #���� �� �� �� 3�- � 3-�� ��� ��

����� ����Æ
���� �� ���#��� ���� � ������+ ��� ������ �� ��
� �� �� 3�-,6 ���� 0 � �������
��

�'������� �"%! ��� �")! +�#� �� ����+ �� ������ ��� � � ��+��� ���� I��� ���#� � ��� ���� ����

 �� � �� ����� �7 ��������� 0 � ��
��� ���� �� �"%!  �� � � �'���� �� � � ��� ��� 1 ��� ��

� � ���������� ��� � �� �� �
��� �+����� ��  �#��+ � � ���� �� �� � � ������������ 4���

�'�������""!� �� �� ����
��� ������������ �� � � ����
 ������ �������� ���


��
� � � �'���� �� ��� 1 ��� ������� �� �'������ �"%! � �� � � ��������
� ��� �7�
��

�� � � <�5����
���
 ������������ �� � �� +������� � ���� �� ����������� �� � � ��+� �� � �

��� �� � � <�5����
���
 
��Æ
������ C���#�� ��  �+ �� =����� � ��� � � ���������
 ��������

�� �� ���+�� � +��� �����5������� �� � � ���� �������� �� �'������� �%! �� ��!� �� =�� � ��

� ��� ��� ����� ��7����
�� �� � � ��������� ���=�� ��� � � �2����
��� ���=�� ������� � � 
����

� ��� � � ��+� �� ��� 1 ��� �� ������#� �� ��+���#�� 0 ��� ��7����
�� ����� ���� �� ���� �� � �

�2����
��� ���������� �� � � ������
 ����� ���� 
����� �� ���
���
 =���� �� ��7����� ��������

��� ��� � � ��+� �� ��� 1 ��� ���� 
�������� 4�������+ ���� � �� � ��� ���� �� �����
������

��� � � � ������
�� ��������� �� � ������
 ����� ��� � <�5����
���
 ������������ ����� �������

��
� #����+�� 83"℄�

4�+��� 6 � ��� � � ������� �� � � ������
�� 
��
������� �� � � ���2����� ����������� ��� ��

� ���
���� �� �����
 ��+����
 =���� ��� �� � � 
��#�� ��� ��7����� #����� �� ��� 1 ��� ���

�� ���� � � ���� #���� �� �� �� ����� � � 4�������
��� � ��� ���� ���
 ? 3� ���#� � �

� ��� ��� � ��� �� � � ��� ��
����� �� � � #���� �� �� �� �#��� 
���� ��� � � +�������� �� � �


��#�� ��� ��7������ 0 � ����� 
��#�� � �
 � ��� � � �������� +������� ����������� ���#�

� � � ��� ���� �� ��� �� ? - ��� ��� ���1��� ? - ����� 0 � ������ +������� �

��� � �� � �

����
 ������ ������� �� �� ����� ���� ��� � � ��� �� � � <�5����
���
 
��Æ
����� �� ��
������

�� ��� 1 ��� ? ,�-� 3-��� ����� 0 � �� �#���� �� � � 
��#�� ��� ���2���� #����� �� �� �� ��

�

�����
� ��� � � ���
������ ���#�� ���� �  �+ #���� �� �� ����� �� ���#��� � ������+ � �
 


��
��� � � ��
����� �� � � #���� �� �� 
����� �� � � <�5����
���
 ������������� �� ���������

������� �� 4�+� ) �� � �� � � 
��#�� ��� ��7����� #����� �� ��� 1 ��� ��� �� ��� #��� 
����

3-



�� 
��#��+��+ �� � � ���� ���
  �� ���
 �� � #���� �� "�)� 0 � 
��#�� �� ��� 
���� �� � �

��+����
 =��� �� ���� �� ��
������� ��� � � ���������� ������� � �� ��
������ ���� ���

:� � ���
��
�� ����������� �� � � 4��������
��� ���������� ��� �� � � ������������ �� ��+ ��

��� � � 
��� ������� 
������ ����������� �� � � 
���
����
� �� � � ��'��� 
������ 
���� �� ����2

����� �� � ���
���� �� � � ������� ��+����
 =��� 86� �� $℄� :� 4�+� � �� � �� � � ��������#���

�� � ���
���� �� � � ������#� ��+����
 =��� �����+� � ���
� ����+ ���
����� � � ���� �������

���� � � ������
�� ����������� � �� ���� ���� �� +������� � � 
��#�� � ��� �� 4�+� 6� 0 �

��������#��� ��� 
��
������ �� ��#����+ � � ����� ���� � ���+� ������ �� ���
�� ��� ������+

� � ��
����
��� �� � � 	2
��������� �� � � ��������#����� �� � � ����#����� ���
�� ����+ � �����2

�
�� ����+������ ��
 ��'��� 0 � +�������� �� � � ��������#��� #����� ���
 
��#�� �����������

���#� � � 4�������
��� � ��� ��� �� �#� �� � ������� ������ �� 4�+� 6 
���������+ � � ��7�����

#����� ���� ��� � � ��� �� � � <�5����
���
 
��Æ
������ ���1���� ��� � � ������� 
 ��+� ������

�������� ��� 0 � +������� �� ����
�� � �� ��� 1 ��� ? ,�-� 3-��� ���� �� ���+ �� � � �������


 ��+� ������ ������� �� �� ����� 3�- � 3-�� ��� �� ������

E �� � � ������#� ��+����
 =��� �����+� �� ���#� ���
 � 3�) � ��7����� �� �#���� ��

�����#�� ��� � � ��������#��� �� 4�+� � 
������� �� � � ���2����� ���� ��+�� �� 4�+� 6� :� 4�+� �

� � ��������#��� 
��#�� ��� � �
 ��� 1 ��� ? ,�- � 3-��� ���� ��� �� ����� #����� -� 3-
�	�

��� 3-�� ��� ��� 
��#��+� ��  �+ =����� 0 � 
��#� ��� � �
 � � 
 ��+� ������ �������

��� ��� �� � � <�5����
���
 
��Æ
����� ��� ���� ������� �� �  �+ �� ��������#��� ���#� � ���


��#��+�� 
��#��� 0 � ��7����
� ������� � � �����#��  �+ =��� �� �#����� �� 4�+� 6 ���

4�+� � ������ ���� � � ��
� � �� � � ���2����� ���� ��+�� ���� � ��� � � ��5���� ���� ��+�� ��

� �����
���� #���� �� ���
� 0 � ��������#����  ���#��� �� 
��
������ ���� � � ���� �2����
���

���=�� � ���+ � � ������ �� � � =��� �� ��
������ � �  �+ +�������� �� � � �2����
���� ����

� �
 � � +������� <�5����
���
 ������������ ������� ��
��� ���� ��� ���� ��
������ �� � �

��+���� ���� �� � � ���������� �� � � 
���� 0 � ��<���
� �� � �� ������������ �� � � ���2�����

���� ��+�� � ������� ��
���� ��������������� ����� C���#��� � +�#�� #���� �� � � ����
 ������

������� ��
���� ���� �7�
��#� �� � ������+ � � <�5����
���
 ������������ �� � ��� ��+����� :� ��

�������� � �� � �� ������� 
���� ��  ������ �� ����������+ � � ���� #���� �� � � <�5����
���



��Æ
����� �� � ������
 ��������� ������� ��� 
������������ ����+ ��������

0 � ����� �
������+ ���+� 8"%℄� ��=��� �� � ? �����������
�!

���
� ����
���� � � ���+� �#��

� �
 � � ������ 
 ��+� ������� �� ���� �� �7�
��#� �� �
������+ � � <�5����
���
 ������������

��� �� +�������� �� � � �2����
���� :� � � <�5����
���
 ������������ �� 
��=��� �� � �� ������

���� �� � � ���������� �� � � 
���� �� �� � � 
��� ��  �+ #����� �� ���
� � �� � � #���� �� �

���� �� 
����������� ��� ���� � �� � � �������� ����� �� �������� �7�
��#� �
������+� 0 ��

��'�����  �+ �� #����� �� � � 
 ��+� ������� �� � �  �+ �� #����� �� ���
� �� � ����������� ��

,-- J ��� ��� � ��������#��� �� � ? 3-� � �
 �� ������� � � #����� �� � � ��� 
���������

+�#�� �� 0���� 3� � � ����� �
������+ ���+� ����� � � #����� � ? ,�$ � 3-�
 � � �� �� ?

3�- � 3-�	 ���� � ? 3�3 � 3-�
 � � �� �� ? 3�- � 3-�� ���� ��� � ? ,�$ � 3-�� �

� �� �� ? 3�- � 3-�� ���� 0 ��� #����� � ���� �� 
��������� �� � � 
����5� �� � � 
���

33



� �
����� � �� ��� ���� �� ��� ������������ 
 ? 3�- � 3-�� �� :� �� 
���� � �� � 
 ��+�

������� �� �� ? 3�- � 3-�	 ��� ���� �� ����Æ
���� �� �
���� � � <�5����
���
 ������������ ��

�#�� ������#��� ��� #����� �� ���
 ���
� � � 
�����������+ #���� �� � �� ������
 ��+  ��� � �

� �
����� �� � � 
����

���� �� ����������+ ������� � �� ��  �+ ��+ ��� �� � � �������
�� �������� �� � � ��������
�

�� �� �� � � 
��� � �
����� 
 ���
����� �� �'������ �"%!� ��� ��+ � � ��+������ �� � �


����
�� � ��� ��� �� 
2���������� � ���� �� �� #����� ���
 � ���� ��� #��� ��� 
� F#��

� �� <�5����
���
��� �� �������
��� �����
���� �� � � ��
��� ���� �� �'������ �"%! �����
��

� �� � � 
��� � �
�����  �� �� �7�
� ������ � � 
 ��+� ������ ������� �� �� ��� ����� 0 ���

�����
����� ��� ������ ��� �� � � ����� �� � � ���2����� ���� ��+�� ��� � � ��������#��� �� �

���
���� �� � � ������#� ��+����
 =��� �����+� ���
 ��� ��7����� #����� �� � � 
 ��+� ������

������� � ��� �� 4�+�� �$! ��� �;!� 4�� ��� �� � ��� =+���� � � #����� �� � � ����������

���� ��� �� � ��� �� 0���� 3 �5
��� ��� � � 
��� � �
������ 
� ��� � � ������#� ��+����
 =���

�����+� � ���
� � �
 ��� �� ����
����� 0 �������� ��� ��� �� � � 
��#�� � ���� ������#���

 �+ #����� �� � � ��� �� � � <�5����
���
 
��Æ
����� ��� � � 
 ��+� ������ ������� ���

����+ 
���������� H���� � ��� 
��
������
�� � � +������� ����������� ����� � � � ��� ���

=��� ������� ���� � � 
��� � �
������ C�+ �� 
��� � �
������� +�#� � ������� +�������� � �
 

�� �� �

�����
� ��� � � �����
���� �� �'������� �"%! ��� �")!� 
��
� ��� � � 
��#�� ����


��
������ ��� � � ���� #���� �� ? 3�-� 3-�	 ��� � �� ��� 
��#��+� ��  �+ #����� �� ���


��� ��� � � ���2����� ���� ��+�� ��� � � ��������#���� � �
 �� 
��������� ��� � � ������
��

������� ����
��� �� 4�+�� �6! ��� ��!�

� ���
���
��

E�  �#� � ��� � �� � � �����#�� ��<���
� �� � <�5����
���
 ������������ �� � � ��+��� ����2

������� ���#� � � 
����
�� ��+����
 4�������
��� ���������� 
�� �� ����
�� �� �#�� ����#��

�� � � � ������+ �7�
�� �� ������ ����
 ���
���  �#��+ � ��Æ
������  �+ ������ �������� 0 ��

�7�
�  �� ���� ������������ �� � � ������ ������
 ���+����� +������� ��� �����+ �����
�

��
 ����+ ��� ��� �'��� ��������� �� ���+�� 
 ��+�� ������#� ��� ��+���#� ����
 ���
���� :�

����� ��� � �� � ������+ �� �

���  �+ �� #����� �� � � 
 ��+� ������ ������� �� ��� ������ ���

 �+ �� #����� �� � � ��� �� � � <�5����
���
 
��Æ
����� ���1 ���� �������
�� 
��
��������  �#�

+�#�� �� ����+ � ����  �� � � � ������+ �� 
��������� �� � � ��������� ������� � ��� ����������

��� �� �� �� #�������� ��
 �� � � 
��� � �
������ � � ������
 
��������� � � �����
 ��������#���

������ ��� � � ��'��� 
������ ��� � � ���������� �� � � ����
 ���
����

>�� ����������+ �����#����� �� � � ��7����
�� �� � � �� �#���� �� � � ���2����� ���� ��


������� �� � � ��������#��� �� � ���
���� �� ��+����
 =��� � �� 
���������+ ��7����� #�����

��� � � ��� �� � � <�5����
���
 
��Æ
����� ��� � � 
 ��+� ������ �������� ��  �+ ��+����


=���� � � ��������#��� �� ����
�� ��  �#��+ � ��� ���� #���� �� ��� 1 ��� ��� � �� ����
����

������� ��� ������ ��������� �� �� �� ? 3�- � 3-�� ���� 0 �� ��++���� � � ����������� � ��

3"



������������ ��  �+ =��� 
���� �� ���� �� ����
��� � � ������
� �� � <�5����
���
 ��������2

���� ������ ������������� �� � � ��#�� �� ����
 
������������ �� � � ������
 ��������� 0 ��

����������� ��'����� ���� �� ��#����+����� ��
���� � � ��������#���  �� ���� 
��
������ �� ��2

#����+ � � ������
 ����� ���� � �� ���
�� ��� 
���������+ � � ��������#��� ������ �� ��
 ���
��

:� � ���
��
�� ����������� � ����� ��
� #����+� ����� �� ������� ��� � � 
���
����
�� ���

� �� ��������#���� �� � � ����� ����� �� �������� ���� � � ������#� � ��� ��� ��������� �� � �

��������� ��
� ������
����� 
������� :� � � ����� #����+� �� ����� ��� ��� ���'���
� ��  �+ 

� �� ��� <�
�������� � �� � �� 
����� �� � � 
 ��+� ������� ���=�� ��� � � ����
��� ����������

��� ����
����� <�5����
���
 ������������ ��� �� ��+��+����� C���#��� �� �� ��Æ
��� �� �
 ��#�

 �+ ��+����
 =���� ����+ �������� ���������� �'������� ��� �� ���� �� ���� �� ��������

�� ��#����+��� �� � ������� �7�
� 
���� �� �����#�� �� � � �2����
��� ���������� �� 
����� �� �

���+� ��
� #����+� � �
 �� ���� ���� �� ������� � � 
���
����
��

�
�
�
�

�

83℄ 
� .� ��.����� ��� K� 
����� ��	 
����
� �� ������ ��������� "�� F������� >5����



���
� 
����
������ �3;;)!

8"℄ 
� � �������� ��� ������ ��������� "�� F������� �������+� H��#������ 
���� �3;;"!

8,℄ L�D� *����� 
 �� L�# &��� ��� ;3$ �3;6;!

8%℄ K� 
���� ��� K�
� *��
����� K� 
 ���'�� ��� ,3) �3;��!

8)℄ *��� >����#� K� 
 ���'�� &���� 	
� &$", �3;$%!

86℄ M� 4�������
��� ��� M� N������ 0����� 4������ 
�
� ��� ;3; �3;,,!�

8�℄ C� .������ 0�K� 

 �7�� ��� .� *����� N� ���������
 ��
� ;66 �3;�"!

8$℄ :� C������ K� � ��� 
 ��� 
�� 3%-- �3;�"!

8;℄ *�K� D���� �� ��� F�
� L������ *��� ������ &�'� ������ ��� ,) �3;$3!�

83-℄ C�K� ������+� 
���� 
���� ����� �	� 3-�, �3;�%!

833℄ C�K� ������+� *��� ������ &�'� ������ ��� "$3 �3;�,!

83"℄ ��M� D���� ��� ��K� *������� 
 ��� L�#� F� ��� ,3�-" �"--,!

83,℄ ��.� 
����#� 
 ����� )�) �� 
����
�� 
���	���	� �� ������ ��������� :�F�F� 
���� �"---!

83%℄ 
� 
����� 
� N� ���� �� 4������ ��� 
� N����� &�'��� �������� �� 33�3 �3;;;!

3,



O������� M���� H����

���� � �
����� 
 3�- �3-�� �


������ �� �������� � 3�- �3-��� ���


��
���������� ���������� @� 3�) �3-�
 �� ����


������� ��������#��� �� 3;�3


�������
���� ��������#��� �� )�3$


�� �� <�5����
���
 
��Æ
����� ��� 1 ��� ,�- �3-��� ����


���� ������
 
������� �� 33�" �3-��� �

D��� ������
 
������� �� 3)�� �3-��� �

L��������� #��
����� �� -�-3 �����

F��
���� �������� 
� 3�- �3-�	 ��M�����

C��� �������� 
� 3�- �3-�	 ��M�����

F��
���� ��7���#��� �� -�-")
� �����

C��� ��7���#��� �� -�-")
� �����

� ��+� ������ ������� �� 3�- �3-�	 ���

*�+����
 =��� �� ����� �� 
����
�� =��� ���
 3�)

0���� 3	 ������� #����� �� � � ���������� � �� ��� ���� �� � � ������
�� 
��
���������

83)℄ D� M������� �� D������� .�D ������� 
�0�#����2M������+�� L� D��������� *��� ������ &�'�

������ �	�� ,-� �3;$�!

836℄ K�&� F��
����� ��
 � ������� *�
 � ����� 	� ",3 �3;6-!�

83�℄ 4�*� &������ O����� K� *�
 � ����� *�� � ��� ,)� �3;66!�

83$℄ 
������� :�E�� ��	 �����
 ��� ������
 ��������� ��	��� �� ������ ��������� &������

0����� P 4���
�� �"--%!�

83;℄ 
� L��'���� ��� 
�0� &�+������� &�'� ������ ��� )-,� �3;;�!�

8"-℄ 
� &������� ��L� ������� ��� 4� &������� ��	
�������	��
 ��	��� ��� ���	�� ,�� F�������

��� Q���� 4������� �3;$$!�

8"3℄ C��� 
������� 4� D�������� ��� &�L� F#��+������� 
 ��� L�#� F� ��� -%-�-3 �"--,!�

8""℄ &� 
����2K����� 
��#��� 
������
����� �"--6!�

8",℄ �>*
>& :�
� 3 ��� F�+���� F5�
���#� 
���� 
���� ,)-� D�����+���� *� -3$-,� H
�

8"%℄ K� :������
 #���� ���	����	
���� ���
	�� &������ �
�����
 
���� �3;$)!

3%



4�+��� 3	 :����������� �� � � +������� ����� ��#����+�����

4�+��� "	 ��! ����
��� ���������� ��� ��! ��������� �
���� � � 
��� ��� ��7�����

������� ��+����
 =����� 0 � ��� �� ��� ����� ����� ��������� � � �������
�� ���

������
�� ��������� �����
��#���� 0 � ���������� ���� �� � � 
��
�������� ��� +�#��

�� 0���� 3�

3)



4�+��� ,	 ��! F��
���� ������ ������� ��� ��!  ��� ������ ������� �
���� � �


��� ��� ��7����� ������� ��+����
 =����� 0 � ��� �� ��� ����� 
��#�� ���������

� � �������
�� ��� ������
�� ���������� �����
��#���� 0 � ���������� ���� �� � �


��
�������� ��� +�#�� �� 0���� 3�

4�+��� %	 ����
��� ���������� �
���� � � 
��� ��� ��7����� ������� 
������� 
 ��+�

������ ��������� ��� � � ��� �� � � <�5����
���
 
��Æ
������ 0 � ����������

���� �� � � ������
�� 
��
�������� ��� +�#�� �� 0���� 3�

36



4�+��� )	 *��2����� ���� ��+�� �� � ���
���� �� � � 
������� 
 ��+� ������ �������

��� ���� �� � � <�5����
���
 
��Æ
������ 0 � ���������� ���� �� � � ������
��


��
�������� ��� +�#�� �� 0���� 3�

4�+��� 6	 ���������� �� � � 
����� �� � � 
��� �� � ���
���� �� ������� ��+����


=��� ��� ��7����� 
������� 
 ��+� ������ ��������� ��� ���� �� � � <�5����
���



��Æ
������ 0 � ���������� ���� �� � � ������
�� 
��
�������� ��� +�#�� �� 0����

3�

3�



4�+��� �	 
�������#��� �� � � 
��� �� � ���
���� �� ������� ��+����
 =��� ��� ��7�����


������� 
 ��+� ������ ��������� ��� ���� �� � � <�5����
���
 
��Æ
������ 0 �

���������� ���� �� � � ������
�� 
��
�������� ��� +�#�� �� 0���� 3�

4�+��� $	 ���������� �� � � 
����� �� � � 
��� �� � ���
���� �� ������� ��+����
 =���

��� ��7����� 
��� � �
�������� 0 � ���������� ���� �� � � ������
�� 
��
��������

��� +�#�� �� 0���� 3�

3$



0
0.2

0.4
0.6

0.8
1x 10

Ŧ10 16
17

18
19

20
0.4

0.6

0.8

1

log
10

(n
0
) (m

Ŧ3
)     e

11
+e

33
 (10

Ŧ10
 C/m)

M
id

Ŧl
a
y
e
r 

ti
lt
 a

n
g
le

 θ
m

 (
ra

d
)

4�+��� ;	 
�������#��� �� � � 
��� �� � ���
���� �� ������� ��+����
 =��� ��� ��7�����


��� � �
�������� 0 � ���������� ���� �� � � ������
�� 
��
�������� ��� +�#�� ��

0���� 3�

3;


